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問

① ②

③ ④

⑤ ⑥

⑦ ⑧

⑨ ⑩

次の計算をしなさい。

（－23）－（＋12）－（－14） （－２３）－（－４５）－（＋２０）

＝（－２３）＋（－１２）＋（＋１４）

＝（－３５）＋（＋１４）

＝（－２３）＋（＋４５）＋（－２０）

＝（－７７）＋（＋１９） ＝（－５５）＋（－３０）＋（＋４０）

＝－５８ ＝（－８５）＋（＋４０）

（－４８）－（＋２９）－（－１９） （－５５）－（－４０）－（＋３０）

＝（－７６）＋（＋３４） ＝（－１３０）＋（＋５５）

＝－４２ ＝－７５

＝（－６１）＋（－１５）＋（＋３４） ＝（－９０）＋（－４０）＋（＋５５）

（－６０）－（＋３０）－（－２０） （－３５）－（＋２０）－（－１０）

＝－３６ ＝（－３９）＋（＋５０）

＝＋１１

＝（－２３）＋（－２０）＋（＋４５）

＝（－４３）＋（＋４５）

＝＋2

＝（－４８）＋（－２９）＋（＋１９） ＝（－５５）＋（＋４０）＋（－３０）

＝－２１

＝－４５

（－６１）－（－３４）－（＋１５） （－９０）－（－５５）－（＋４０）

＝（－６１）＋（＋３４）＋（－１５） ＝（－９０）＋（＋５５）＋（－４０）

（－２６）－（＋１５）－（－５） （－２９）－（－５０）－（＋１０）

＝（－２６）＋（－１５）＋（＋５） ＝（－２９）＋（＋５０）＋（－１０）

＝（－４１）＋（＋５） ＝（－２９）＋（－１０）＋（＋５０）

＝（－６０）＋（－３０）＋（＋２０） ＝（－３５）＋（－２０）＋（＋１０）

＝（－９０）＋（＋２０） ＝（－５５）＋（＋１０）

＝－７０ ＝－４５
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